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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this queétion paper.

2. Attempt all questions.

3. Separate answer sheet for each part will be issued according to the time allotted
to each part of the paper.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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PART — A (VW1 &)
Income Tax

Duration — Two Hours Maximum Marks : 50

Attempt all questions.
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1. State whether the following statements are ‘true’ or “false’ : (1x5)
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(a) No person other than an individual and HUF can be ‘Not Ordinarily Resident

in India’.

(b) Long term capital gain can be set-off against short term capital gain in the

same financial year.
(c) Dividend income from the domestic company is exempt from tax.
(d) Income from illegal business in not chargeable to tax.

(e) Agriculture income is exempt from tax provided the land is situated in

India.
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Compute the total income and tax liability of Mr. X for the Assessment Year
2014-15:

(a) Salary Rs. 50,000 p.m.

(b) Dearness allowance 20% of basic salary (forming part of salary).

(c) Transport allowance Rs. 1,000 p.m.

(d) Telephone facility at the residence of employee and telephone bill of Rs. 8,000
met by the employer.
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He has been provided a Maruti WagonR car (1100 CC) with driver for both
official as well as private purpose. Car expenses including driver salary are
met by the employer.

The employer contributed 15% of his salary to the recognised provident
fund and similar contribution is made by the employee.

On 31% December’ 13 Rs. 60,000 was credited as interest @ 15% in his
Recognised Provident Fund Account.

He has been provided a rent free accommodation in Delhi for which rent of
Rs. 15,000 p.m. paid by the employer.

. He has received Rs. 12,000 as dividend from TATA Motor Ltd.

Saving Bank interest Rs. 8,000 has been credited to his saving bank account

with Canara Bank.

He deposited Rs. 25,000 in PPF A/C in the name of his minor cbild and
paid Rs. 10,000 as LIC premium in respect of life insurance policy of his
married independent son.

He paid Rs. 10,000 as donation to Prime Minister National Relief Fund.
' (15)
OR

Write a note on taxability of Educational Facility provided by the employer
to his employee. (5)

Mr. X is retired from ABC Ltd. with effect from 30.09.2013 after serving
the employer for 20 years and 6 months. At the time of his retirement his
basic pay was Rs. 19,000 p.m. and dearness allowance Rs. 13,000 p.m. -

The employee was not covered under Payment of Gratuity Act 1972. The
employer has paid him gratuity of Rs. 5,70,000 and has allowed him pension
of Rs. 15,000 p.m. The employer has also allowed him commutation of
pension on 01.01.2014 for 40% of the pension and has paid Rs. 3,60,000.

Compute the taxable amount of pension and gratuity for the Assessment
Year 2014-15. (10)
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Mr. X has taken a loan of Rs. 15,00,000 on 01.07.2011 @ 12% p.a. for
construction of one house which was completed on 01 .05.2013 and was let
out @ Rs. 60,000 p.m. w.e.f 01.07.2013 and Fair rent is Rs. 8,00,000 per
annum and the assessee has paid municipal tax of Rs. 30,000 in P.Y. 2013-
14, the assessee has repaid the loan amount of Rs. 5,00,000 on 30.09.201 3.

Compute his income from house property for the assessment year 2014-15.

(10)

Mr. X an India citizen left India for the first time on 21-9-2012 for
employment in Japan. During the previous year 2013-14 he comes to India
on 5-5-2013 for 150 days, determine his residential status for assessment

year 2013-14 and 2014-15 ? (5)
OR

The following incomes are received by Mr. Mohan during the financial year
2013-14:

« Diréctor Fees — Rs. 20,000

- Income from agriculture land in Pakistan — Rs. 2,00,000
. Dividend from foreign company — Rs. 30,000

« TRent from sub-letting of house —Rs. 50,000

« Income from Horse races (gross) — Rs. 10,000

PTO.
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You are required to compute “Income from Other Sources” of Mr. Mohan

for the assessment year 2014-15. (5)

(b) Briefly explain the deduction in respect of medical insurance premium under
section 80D of Income Tax Act 1961. (10)
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(a) Block I Plant and machinery (Consisting of 10 looms)

(b)

(a)

(b)

(©)

Rate of depreciation — 15%
Written Down Value — Rs. 6,50,000

Acquired on 05.07.2013 and put to use on 01.09.2013 -5 looms for
Rs. 4,20,000 '

Sold on 07.12.2013 -10 looms for Rs. 7,70,000

Compute depreciation claim for the assessment year 2014-15 ? (5)

Define agriculture income and how is it treated for income tax purposes ?
(10)

OR
State the provisions of Income Tax Act in respect any one of the following :

(i) Entertainment Allowance

(ii) Children Education Allowance ' (5)

Explain briefly the provisions regarding “Clubbing of Income of Minor Child”

under the Income Tax Act? (5)

From the following information compute the taxable capital gain of Mr. X for
financial year ended 31.03.2014

Cost of house acquired on 11-5-1976 2,00,000

Fair Market Value as on 1/4/1981 _4,00,000
House sold on 1¢ January’ 2014 ' 50,10,000
Purchased new residential house on 11* March, 14 10,00,000
Commission paid on sale of homuse 10,000

The cost inflation index for the relevant years is: 1981-82 -100, 2013-
2014-939. (%)
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PART - B (¥ @)
Auditing (S wleon)
Duration — One Hour Maximum Marks : 25
Attempt all questions.
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1. Choose the correct answer : (1x5)

(a) Which type of audit is conducted throughout the year —
(i) Annual audit

(i) Interim audit

(i) Continuous audit

(iv) Complete audit

(b) Audit is compulsory in —
(i) Sole trader business
(ii) Partnership
(i} Company-
(iv) None of these
(c) To note down the proceedings of meetings, the book used is —
(i) Audit file
(ii) Audit note book
(iii) Minute book

(iv) None of these

(d) The process of distribution of work among employees according to their

abjlity is known as —
(i) Internal audit

(i) Internal check

PTO.
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(iit) Internal control

(iv) None of these

(¢) The main objective of vouching is ~
(i) To prepare trial balance
(i) To conduct routine checking
(iti) To verify authenticity and authority of transactions

(iv) Checking of vouchers
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2. Explain the meaning of Auditing. State its objects. What are the advantages of
audit for a company registered under the Companies Act? - (10)

OR

Explain the meaning of continuous audit. To what categories of organisations is
the continuous audit applicable. State briefly the advantages and objectives of

(10)

such audit.
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tate its objectives and explain the differences between vouching

3. Define vouching. S
(10)

and verification.

PT.O.
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OR

State the provisions of Companies Act 2013 regarding :
(a) Qualification of an auditor
{b) Rights of an auditor

(¢) Internal Check (10)
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